SAFE T PLUS

Steering Control

INSTALLATION INSTRUCTIONS

PARTS NEEDED: 10-2012

41-230 SAFE-T-PLUS Unit (Blue)
G-002K4 Mounting Hardware Kit consists of:
55-104-6 Anchor Bracket
55-208 Tie Rod Bracket
12-38-2000K 3/8” x 2 U-Bolt Kit

Anchor Bracket. Remove nuts from front axle spring rear U-bolt, install bracket, replace and tighten nuts
securely, (Bracket should clear above or below the tie rod at all times during steering rotation.)

Using U-bolts and nuts provided, install Tie Rod Bracket on opposite end of tie rod with 3/4” mounting holes
extending from the side of tie rod to which unit will be mounted. Leave bracket slightly loose on tie rod for final

positioning later. Thoroughly clean this section of tie rod before attaching bracket.

Set front wheels of vehicle to a straight-ahead position. This is important. Later adjustment of the Tie Rod
Bracket may be avoided if front wheels are set perfectly straight.

Select the best unit to bracket installation position based on the following procedure:

(A)
(B)
©
D)

(A)

(B)

(A)

(B)

©

Unit should be installed to provide maximum protection by front axle.

Small diameter end of unit should be 1/2” to 1”” lower than large end of unit when installation is complete.
Unit may be attached either above or below both Anchor and/or Tie Rod Bracket.

It is preferable to install unit with large diameter end attached to Anchor Bracket; however, it may be
installed in the opposite direction to obtain desired angle.

After selecting best installation position install Anchor Bracket end of unit

first. Align holes and insert one of the 3/4” bolts provided, using a large

flat washer on the opposite side of unit mounting eye from bracket.

Install 3/4” lock nut to mounting bolt and tighten with a wrench to 80-92 pounds of torque.

Next attach unit to tie rod by sliding Tie Rod Bracket to align the nearest
3/4” hole in bracket with unit mounting eye. Drop 3/4” bolt provided
through aligned holes. Using a flat washer on opposite side of unit
mounting eye from bracket, fasten a locknut and tighten with a wrench
just enough to allow the unit eyelet to still easily rotate around the
mounting bolt.

Adjust the Tie Rod Bracket by rotating around tie rod to the point
necessary to bring small diameter end of unit to a point 1/2” to 17 lower than
large end of unit. When positioned tighten the four U-bolt nuts to 20/30
pounds of torque.

Tighten 34-16 locknut to 80-90 pounds of torque.

Check to be sure installed unit clears all other parts of vehicle by turning steering wheel to both extreme positions.
If unit scrapes or binds at any point, review these instructions and make necessary corrections.



SAFE-T-PLUS INSTALLATIONS
BASIC TRUCK APPLICATION -1 BEAM FRONT AXLES
GENERAL INSTRUCTIONS

1. The Safe-T-Plus Unit is installed behind the front axle, either (1) between the tie rod and front axle (preferred, see
sketch # 1, or #2 directly behind the tie rod (acceptable, see sketch #2).
The proper position is determined by selecting the location having adequate clearance for the unit to operate
throughout both extremes of the steering radius without touching other parts of the vehicle.

2. The Safe-T-Plus Unit is a positive centering device. It is shipped from the factory in a centered condition and
should be installed as is without any extension or compression of the unit at installation.

3. Parts used in installation and included in this package are:
1 - SAFE-T-PLUS Unit 2 —3/4” Flat Washers
2 —3-1/2” X 3/4” Mounting Bolts 2 —3/4” Lock nuts

4. Other parts needed for installation include:

1 — Anchor Bracket, selected based on spring U-bolt size and tie rod location.

1 — Tie Rod Bracket, selected based on tie rod diameter

1 — Tie Rod Mounting Kit, consisting of U-bolts and 4, 3/8” lock nuts.

® Some applications allow the unit or the anchor bracket to be flipped around for proper installation or
clearance issues.

If you need additional technical assistance, please call us toll-free (800) 872-7233 or email our tech support team at
support @safe-t-plus.com.

SKETCH

SKETCH

= SKETCH #3

SAFE T PLUS

Steering Control

11/8/2012



